LakeCounty Division of Transporta	tion					
		Summary of Bids Received	/ed			
P	roject: Winchester Road Resurfacing	5				
Se	ection: 20-00999-80-RS					
	ption: Mill and Resurface; Replace	Culvert; and Construct Path				
	IS Pin: B-01573					
Let	Date: 4/11/2023					
Bidder Peter Baker & Son Company	Address 1349 Rockland Road	City, State, Zip Lake Bluff, IL 60044	Bond Bid Bond	Bid Price \$5,344,030.77	% Over/Under Eng. Estimate -13.94%	\$ Over/Under Eng Estimate -\$865,904.0
Engineer's Estimate				\$6,209,934.80		
Design	IDOT(2)	Contract Bidder		County Engineer		
Finance	Bid Tab File	Resident Eng.		Mgr Capital Prograr	mming	
Construction	Project File	Request By Mail				



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Day Carla	Paradiation	O a sabita .	11-14	Eng Est	imate	Peter Baker & S	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20101100	TREE TRUNK PROTECTION	18.0	EACH	\$125.00	\$2,250.00	\$90.00	\$1,620.00
2	20101200	TREE ROOT PRUNING	18.0	EACH	\$140.00	\$2,520.00	\$90.00	\$1,620.00
3	20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	6.0	EACH	\$78.00	\$468.00	\$100.00	\$600.00
4	20101350	TREE PRUNING (OVER 10 INCH DIAMETER)	12.0	EACH	\$90.00	\$1,080.00	\$100.00	\$1,200.00
5	20200100	EARTH EXCAVATION	2,814.0	CU YD	\$35.00	\$98,490.00	\$63.75	\$179,392.50
6	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	186.0	UNIT	\$515.00	\$95,790.00	\$600.00	\$111,600.00
7	20700220	POROUS GRANULAR EMBANKMENT	649.0	CU YD	\$60.00	\$38,940.00	\$112.50	\$73,012.50
8	20800150	TRENCH BACKFILL	9.0	CU YD	\$62.00	\$558.00	\$107.00	\$963.00
9	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	1,137.0	SQ YD	\$10.00	\$11,370.00	\$2.65	\$3,013.05
10	21301052	EXPLORATION TRENCH 52" DEPTH	150.0	FOOT	\$50.00	\$7,500.00	\$20.00	\$3,000.00
11	28000250	TEMPORARY EROSION CONTROL SEEDING	252.0	POUND	\$5.50	\$1,386.00	\$0.10	\$25.20
12	28000305	TEMPORARY DITCH CHECKS	84.0	FOOT	\$15.00	\$1,260.00	\$15.00	\$1,260.00
13	28000400	PERIMETER EROSION BARRIER	1,230.0	FOOT	\$4.00	\$4,920.00	\$3.00	\$3,690.00
14	28000510	INLET FILTERS	43.0	EACH	\$170.00	\$7,310.00	\$215.00	\$9,245.00
15	28100107	STONE RIPRAP, CLASS A4	92.0	SQ YD	\$100.00	\$9,200.00	\$206.55	\$19,002.60



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Day Code	Description	Overstitu	l lmit	Eng Est	imate	Peter Baker & S	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
16	28200200	FILTER FABRIC	113.0	SQ YD	\$4.00	\$452.00	\$7.45	\$841.85
17	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	868.0	SQ YD	\$25.00	\$21,700.00	\$42.85	\$37,193.80
18	35101400	AGGREGATE BASE COURSE, TYPE B	1,701.0	TON	\$40.00	\$68,040.00	\$44.00	\$74,844.00
19	40201000	AGGREGATE FOR TEMPORARY ACCESS	219.0	TON	\$35.00	\$7,665.00	\$5.00	\$1,095.00
20	40600275	BITUMINOUS MATERIALS (PRIME COAT)	8,608.0	POUND	\$1.50	\$12,912.00	\$0.01	\$86.08
21	40600290	BITUMINOUS MATERIALS (TACK COAT)	60,554.0	POUND	\$1.50	\$90,831.00	\$0.01	\$605.54
22	40600370	LONGITUDINAL JOINT SEALANT	36,367.0	FOOT	\$3.50	\$127,284.50	\$3.35	\$121,829.45
23	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	30.0	TON	\$330.00	\$9,900.00	\$150.00	\$4,500.00
24	40600990	TEMPORARY RAMP	700.0	SQ YD	\$25.00	\$17,500.00	\$1.00	\$700.00
25	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	2,983.0	TON	\$110.00	\$328,130.00	\$79.15	\$236,104.45
26	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	3,380.0	TON	\$132.00	\$446,160.00	\$104.85	\$354,393.00
27	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	553.0	TON	\$125.00	\$69,125.00	\$152.30	\$84,221.90
28	40604062	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	7,839.0	TON	\$125.00	\$979,875.00	\$90.25	\$707,469.75



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Davi Carla	Parautistian.	0	11	Eng Est	imate	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
29	42001300	PROTECTIVE COAT	2,156.0	SQ YD	\$2.00	\$4,312.00	\$0.01	\$21.56
30	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	11,739.0	SQFT	\$14.00	\$164,346.00	\$8.25	\$96,846.75
31	42400800	DETECTABLE WARNINGS	731.0	SQFT	\$33.00	\$24,123.00	\$38.00	\$27,778.00
32	44000100	PAVEMENT REMOVAL	303.0	SQ YD	\$20.00	\$6,060.00	\$24.85	\$7,529.55
33	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	74,142.0	SQ YD	\$4.50	\$333,639.00	\$3.70	\$274,325.40
34	44000200	DRIVEWAY PAVEMENT REMOVAL	1,034.0	SQ YD	\$20.00	\$20,680.00	\$26.00	\$26,884.00
35	44000500	COMBINATION CURB AND GUTTER REMOVAL	2,633.0	FOOT	\$14.50	\$38,178.50	\$9.00	\$23,697.00
36	44000600	SIDEWALK REMOVAL	15,033.0	SQFT	\$4.50	\$67,648.50	\$2.50	\$37,582.50
37	44201761	CLASS D PATCHES, TYPE I, 10 INCH	375.0	SQ YD	\$90.00	\$33,750.00	\$45.00	\$16,875.00
38	44201765	CLASS D PATCHES, TYPE II, 10 INCH	562.0	SQ YD	\$90.00	\$50,580.00	\$45.00	\$25,290.00
39	44201769	CLASS D PATCHES, TYPE III, 10 INCH	1,684.0	SQ YD	\$90.00	\$151,560.00	\$45.00	\$75,780.00
40	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	1,447.0	SQ YD	\$90.00	\$130,230.00	\$45.00	\$65,115.00
41	48101200	AGGREGATE SHOULDERS, TYPE B	2,005.0	TON	\$70.00	\$140,350.00	\$21.05	\$42,205.25
42	50100200	REMOVAL OF EXISTING STRUCTURES	1.0	L SUM	\$80,000.00	\$80,000.00	\$23,000.00	\$23,000.00
43	50104000	BRIDGE RAIL REMOVAL	112.0	FOOT	\$25.00	\$2,800.00	\$232.00	\$25,984.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Day Cada	Description	Overtitu	l lmia	Eng Est	imate	Peter Baker & S	on Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
44	50300255	CONCRETE SUPERSTRUCTURE	1.0	CU YD	\$800.00	\$800.00	\$15,000.00	\$15,000.00
45	50300285	FORM LINER TEXTURED SURFACE	530.0	SQ FT	\$12.00	\$6,360.00	\$10.00	\$5,300.00
46	50800205	REINFORCEMENT BARS, EPOXY COATED	130.0	POUND	\$2.50	\$325.00	\$10.00	\$1,300.00
47	54001001	BOX CULVERT END SECTIONS, CULVERT NO.1	2.0	EACH	\$115,000.00	\$230,000.00	\$210,000.00	\$420,000.00
48	54011210	PRECAST CONCRETE BOX CULVERTS 12' X 10'	60.0	FOOT	\$1,500.00	\$90,000.00	\$2,795.00	\$167,700.00
49	550A0340	STORM SEWERS, CLASS A, TYPE 2 12"	14.0	FOOT	\$91.00	\$1,274.00	\$112.80	\$1,579.20
50	55100200	STORM SEWER REMOVAL 6"	5.0	FOOT	\$30.00	\$150.00	\$92.00	\$460.00
51	56106400	ADJUSTING WATER MAIN 8"	120.0	FOOT	\$300.00	\$36,000.00	\$75.00	\$9,000.00
52	58000100	MEMBRANE WATERPROOFING	971.0	SQ FT	\$30.00	\$29,130.00	\$23.57	\$22,886.47
53	60100905	PIPE DRAINS 4"	100.0	FOOT	\$45.00	\$4,500.00	\$59.00	\$5,900.00
54	60100915	PIPE DRAINS 6"	100.0	FOOT	\$50.00	\$5,000.00	\$65.00	\$6,500.00
55	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	932.0	FOOT	\$20.00	\$18,640.00	\$4.45	\$4,147.40
56	60200805	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	1.0	EACH	\$4,000.00	\$4,000.00	\$4,267.00	\$4,267.00
57	60237470	INLETS, TYPE A, TYPE 24 FRAME AND GRATE	2.0	EACH	\$2,000.00	\$4,000.00	\$2,320.00	\$4,640.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Day Cada	Description	Overtitu	Unit	Eng Es	timate	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
58	60250400	CATCH BASINS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, OPEN LID	6.0	EACH	\$1,000.00	\$6,000.00	\$1,020.00	\$6,120.00
59	60250500	CATCH BASINS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, CLOSED LID	4.0	EACH	\$1,000.00	\$4,000.00	\$1,020.00	\$4,080.00
60	60251740	CATCH BASINS TO BE ADJUSTED WITH NEW TYPE 24 FRAME AND GRATE	2.0	EACH	\$1,000.00	\$2,000.00	\$1,045.00	\$2,090.00
61	60266600	VALVE BOXES TO BE ADJUSTED	15.0	EACH	\$700.00	\$10,500.00	\$785.00	\$11,775.00
62	60300105	FRAMES AND GRATES TO BE ADJUSTED	12.0	EACH	\$750.00	\$9,000.00	\$750.00	\$9,000.00
63	60300305	FRAMES AND LIDS TO BE ADJUSTED	23.0	EACH	\$750.00	\$17,250.00	\$795.00	\$18,285.00
64	60404950	FRAMES AND GRATES, TYPE 24	5.0	EACH	\$400.00	\$2,000.00	\$425.00	\$2,125.00
65	60406100	FRAMES AND LIDS, TYPE 1, CLOSED LID	5.0	EACH	\$400.00	\$2,000.00	\$400.00	\$2,000.00
66	60600605	CONCRETE CURB, TYPE B	36.0	FOOT	\$50.00	\$1,800.00	\$47.00	\$1,692.00
67	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	1,008.0	FOOT	\$75.00	\$75,600.00	\$43.00	\$43,344.00
68	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	1,873.0	FOOT	\$72.00	\$134,856.00	\$53.00	\$99,269.00
69	60618300	CONCRETE MEDIAN SURFACE, 4 INCH	428.0	SQ FT	\$15.00	\$6,420.00	\$8.25	\$3,531.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item					Eng Est	timate	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
70	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	725.0	FOOT	\$30.00	\$21,750.00	\$36.00	\$26,100.00
71	63000035	BACK SIDE PROTECTION OF GUARDRAIL	222.0	FOOT	\$30.00	\$6,660.00	\$60.00	\$13,320.00
72	63000360	LONG-SPAN GUARDRAIL OVER CULVERT, 18 FT 9 IN SPAN	88.0	FOOT	\$35.00	\$3,080.00	\$45.00	\$3,960.00
73	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	6.0	EACH	\$3,500.00	\$21,000.00	\$3,500.00	\$21,000.00
74	63200310	GUARDRAIL REMOVAL	932.0	FOOT	\$10.00	\$9,320.00	\$6.40	\$5,964.80
75	64200108	SHOULDER RUMBLE STRIPS, 8 INCH	13,229.0	FOOT	\$2.50	\$33,072.50	\$1.05	\$13,890.45
76	66900200	NON-SPECIAL WASTE DISPOSAL	1,350.0	CU YD	\$110.00	\$148,500.00	\$70.40	\$95,040.00
77	66900530	SOIL DISPOSAL ANALYSIS	7.0	EACH	\$1,625.00	\$11,375.00	\$1,290.00	\$9,030.00
78	66901001	REGULATED SUBSTANCES PRE-CONSTRUCTION PLAN	1.0	L SUM	\$5,000.00	\$5,000.00	\$3,400.00	\$3,400.00
79	66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	1.0	L SUM	\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00
80	66901006	REGULATED SUBSTANCES MONITORING	10.0	CAL DA	\$1,000.00	\$10,000.00	\$890.00	\$8,900.00
81	67100100	MOBILIZATION	1.0	L SUM	\$295,000.00	\$295,000.00	\$354,711.53	\$354,711.53
82	70300100	SHORT TERM PAVEMENT MARKING	53,745.0	FOOT	\$1.20	\$64,494.00	\$0.01	\$537.45



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Davi Carla	Paradiation.	0	11-14	Eng Es	timate	Peter Baker & S	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
83	70300211	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS - PAINT	1,385.0	SQ FT	\$3.00	\$4,155.00	\$0.01	\$13.85
84	70300221	TEMPORARY PAVEMENT MARKING - LINE 4"- PAINT	43,873.0	FOOT	\$0.50	\$21,936.50	\$0.01	\$438.73
85	70300231	TEMPORARY PAVEMENT MARKING - LINE 5"- PAINT	32,776.0	FOOT	\$0.65	\$21,304.40	\$0.01	\$327.76
86	70300241	TEMPORARY PAVEMENT MARKING - LINE 6"- PAINT	5,818.0	FOOT	\$0.75	\$4,363.50	\$0.01	\$58.18
87	70300261	TEMPORARY PAVEMENT MARKING - LINE 12"- PAINT	5,449.0	FOOT	\$1.50	\$8,173.50	\$0.01	\$54.49
88	70300281	TEMPORARY PAVEMENT MARKING - LINE 24"- PAINT	691.0	FOOT	\$3.00	\$2,073.00	\$0.01	\$6.91
89	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	13,436.0	FOOT	\$1.25	\$16,795.00	\$0.01	\$134.36
90	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,385.0	SQ FT	\$7.20	\$9,972.00	\$4.45	\$6,163.25
91	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	39,758.0	FOOT	\$2.15	\$85,479.70	\$0.75	\$29,818.50
92	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	32,776.0	FOOT	\$1.00	\$32,776.00	\$0.93	\$30,481.68
93	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	5,818.0	FOOT	\$2.10	\$12,217.80	\$1.12	\$6,516.16



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Day Carda	Description.	0	11	Eng Est	imate	Peter Baker & S	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
94	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	5,449.0	FOOT	\$4.20	\$22,885.80	\$2.23	\$12,151.27
95	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	691.0	FOOT	\$8.50	\$5,873.50	\$4.45	\$3,074.95
96	78011000	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	1,416.0	SQ FT	\$9.00	\$12,744.00	\$3.00	\$4,248.00
97	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	39,370.0	FOOT	\$1.00	\$39,370.00	\$0.30	\$11,811.00
98	78011030	GROOVING FOR RECESSED PAVEMENT MARKING 6"	32,081.0	FOOT	\$1.00	\$32,081.00	\$0.36	\$11,549.16
99	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7"	5,590.0	FOOT	\$1.75	\$9,782.50	\$0.75	\$4,192.50
100	78011065	GROOVING FOR RECESSED PAVEMENT MARKING 13"	4,172.0	FOOT	\$4.00	\$16,688.00	\$1.50	\$6,258.00
101	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 25"	288.0	FOOT	\$9.50	\$2,736.00	\$3.00	\$864.00
102	78300201	PAVEMENT MARKING REMOVAL - GRINDING	500.0	SQ FT	\$16.00	\$8,000.00	\$0.75	\$375.00
103	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	44.0	FOOT	\$20.00	\$880.00	\$38.60	\$1,698.40
104	81400100	HANDHOLE	1.0	EACH	\$1,575.00	\$1,575.00	\$4,165.00	\$4,165.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Day Cada	Donasiation.	O	11	Eng Est	imate	Peter Baker & S	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
105	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	4.0	EACH	\$2,000.00	\$8,000.00	\$2,240.00	\$8,960.00
106	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	347.0	FOOT	\$1.40	\$485.80	\$2.30	\$798.10
107	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	361.0	FOOT	\$1.50	\$541.50	\$2.90	\$1,046.90
108	87900200	DRILL EXISTING HANDHOLE	2.0	EACH	\$280.00	\$560.00	\$577.00	\$1,154.00
109	89500200	RELOCATE EXISTING PEDESTRIAN SIGNAL HEAD	2.0	EACH	\$375.00	\$750.00	\$577.00	\$1,154.00
110	89501150	RELOCATE EXISTING TRAFFIC SIGNAL POST	1.0	EACH	\$500.00	\$500.00	\$857.00	\$857.00
111	89502210	MODIFY EXISTING CONTROLLER CABINET	1.0	EACH	\$1,250.00	\$1,250.00	\$2,528.00	\$2,528.00
112	89502350	REMOVE AND REINSTALL ELECTRIC CABLE FROM CONDUIT	7,358.0	FOOT	\$1.30	\$9,565.40	\$1.70	\$12,508.60
113	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.0	EACH	\$250.00	\$250.00	\$2,240.00	\$2,240.00
114	89502376	REBUILD EXISTING HANDHOLE	5.0	EACH	\$1,250.00	\$6,250.00	\$4,165.00	\$20,825.00
115	89502380	REMOVE EXISTING HANDHOLE	1.0	EACH	\$440.00	\$440.00	\$1,120.00	\$1,120.00
116	LC200051	REJECTED LOAD TRANSPORTATION	10.0	LOAD	\$300.00	\$3,000.00	\$165.65	\$1,656.50
117	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	28,812.0	UNIT	\$1.00	\$28,812.00	\$1.00	\$28,812.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	D. C. I.	B	0		Eng Est	imate	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
118	LC400161	LEVELING BINDER (HAND METHOD) N70	314.0	TON	\$150.00	\$47,100.00	\$5.00	\$1,570.00
119	LC600200	INSTALL SURVEY MONUMENTS	16.0	EACH	\$750.00	\$12,000.00	\$555.00	\$8,880.00
120	LC782000	GUARDRAIL REFLECTORS	40.0	EACH	\$20.00	\$800.00	\$12.00	\$480.00
121	LC800874	TEMPORARY TRAFFIC SIGNAL TIMING	4.0	EACH	\$1,000.00	\$4,000.00	\$1,300.00	\$5,200.00
122	X0324599	ROD AND CLEAN EXISTING CONDUIT	644.0	FOOT	\$1.50	\$966.00	\$0.10	\$64.40
123	X0325318	LIGHTWEIGHT CELLULAR CONCRETE FILL	20.5	CU YD	\$400.00	\$8,200.00	\$1,108.00	\$22,714.00
124	X0326898	CENTER LINE - RUMBLE STRIP - 16"	2,537.0	FOOT	\$2.25	\$5,708.25	\$1.20	\$3,044.40
125	X0426200	DEWATERING	1.0	L SUM	\$10,000.00	\$10,000.00	\$190,000.00	\$190,000.00
126	X0900075	COFFERDAM (TYPE 1) (IN-STREAM/WETLAND WORK)	2.0	EACH	\$8,000.00	\$16,000.00	\$35,000.00	\$70,000.00
127	X1200246	WATERMAIN CASING PIPE FOOT	60.0	FOOT	\$250.00	\$15,000.00	\$200.00	\$12,000.00
128	X1400012	REMOVE AND REINSTALL FIBER OPTIC CABLE IN CONDUIT	6,721.0	FOOT	\$2.50	\$16,802.50	\$5.10	\$34,277.10
129	X1400031	REMOVE PEDESTRIAN PUSH-BUTTON	10.0	EACH	\$165.00	\$1,650.00	\$280.00	\$2,800.00
130	X1400326	RECTANGULAR RAPID FLASHING BEACON ASSEMBLY (COMPLETE)	6.0	EACH	\$8,000.00	\$48,000.00	\$9,858.00	\$59,148.00
131	X1400367	PEDESTRIAN SIGNAL POST, 10 FT.	1.0	EACH	\$1,000.00	\$1,000.00	\$1,799.00	\$1,799.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Day Carla	Description	0	11	Eng Est	imate	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
132	X1400388	VIDEO VEHICLE DETECTION SYSTEM, SINGLE APPROACH	2.0	EACH	\$15,000.00	\$30,000.00	\$8,211.00	\$16,422.00
133	X2800500	INLET PROTECTION, SPECIAL	9.0	EACH	\$300.00	\$2,700.00	\$150.00	\$1,350.00
134	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	689.0	SQ YD	\$16.00	\$11,024.00	\$12.40	\$8,543.60
135	X5030290	STAINING CONCRETE STRUCTURES	530.0	SQ FT	\$10.00	\$5,300.00	\$10.00	\$5,300.00
136	X5091725	BICYCLE RAILING, SPECIAL	112.0	FOOT	\$300.00	\$33,600.00	\$8.00	\$896.00
137	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	42.0	EACH	\$1,475.00	\$61,950.00	\$1,545.00	\$64,890.00
138	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$177,500.00	\$177,500.00	\$220,428.00	\$220,428.00
139	X7010237	CHANGEABLE MESSAGE SIGN, SPECIAL	420.0	CAL DA	\$45.00	\$18,900.00	\$30.00	\$12,600.00
140	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	4,115.0	FOOT	\$1.00	\$4,115.00	\$0.95	\$3,909.25
141	X8100105	CONDUIT SPLICE	2.0	FOOT	\$450.00	\$900.00	\$1,212.00	\$2,424.00
142	X8620200	UNINTERRUPTABLE POWER SUPPLY, SPECIAL	1.0	EACH	\$6,000.00	\$6,000.00	\$7,224.00	\$7,224.00
143	X8620310	REMOVE AND REPLACE BATTERIES FOR UNINTERUPTABLE POWER SUPPLY, EXTENDED	1.0	EACH	\$1,500.00	\$1,500.00	\$3,596.00	\$3,596.00
144	X8760200	ACCESSIBLE PEDESTRIAN SIGNALS	10.0	EACH	\$1,250.00	\$12,500.00	\$1,970.00	\$19,700.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Davi Carla	Paradiation.	0	11	Eng Est	imate	Peter Baker & S	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price
145	X8780012	CONCRETE FOUNDATION, TYPE A 12-INCH DIAMETER	8.0	FOOT	\$2,000.00	\$16,000.00	\$419.00	\$3,352.00
146	XX000856	MAILBOX REMOVAL AND RELOCATION	4.0	EACH	\$500.00	\$2,000.00	\$150.00	\$600.00
147	XX006343	SEEDING (COMPLETE)	12,320.0	SQ YD	\$6.00	\$73,920.00	\$6.00	\$73,920.00
148	XX006658	FLOCCULATION LOGS	5.0	EACH	\$90.00	\$450.00	\$1.00	\$5.00
149	XX006659	FLOCCULATION POWDER	5.0	POUND	\$105.00	\$525.00	\$1.00	\$5.00
150	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	475.0	FOOT	\$6.00	\$2,850.00	\$7.00	\$3,325.00
151	XX008865	PERMEABLE PLASTIC BERM	84.0	FOOT	\$15.00	\$1,260.00	\$15.00	\$1,260.00
152	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	4,479.0	SQ YD	\$2.85	\$12,765.15	\$0.01	\$44.79
153	XX206400	MAILBOX POST	4.0	EACH	\$450.00	\$1,800.00	\$100.00	\$400.00
154	Z0013798	CONSTRUCTION LAYOUT	1.0	L SUM	\$60,000.00	\$60,000.00	\$23,000.00	\$23,000.00
155	Z0048665	RAILROAD PROTECTIVE LIABILITY INSURANCE	1.0	L SUM	\$8,000.00	\$8,000.00	\$5,875.00	\$5,875.00
156	Z0055905	TEMPORARY CONSTRUCTION FENCE	169.0	FOOT	\$8.00	\$1,352.00	\$15.00	\$2,535.00
		Bid Total				\$6,209,934.80		\$5,344,030.77



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

	let Bute.	4/11/2023	_						
Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Min. Rid Price	Max. Bid Price	Avg. Rid Price
No.	ruy couc	Description	quantity	Oc	Unit Price	Extnd. Price	IVIIII. DIG I IICC	IVIUX. DIG I IICC	Avg. Dia i nec
1	20101100	TREE TRUNK PROTECTION	18.0	EACH	\$125.00	\$2,250.00	\$90.00	\$90.00	\$90.00
2	20101200	TREE ROOT PRUNING	18.0	EACH	\$140.00	\$2,520.00	\$90.00	\$90.00	\$90.00
3	20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	6.0	EACH	\$78.00	\$468.00	\$100.00	\$100.00	\$100.00
4	20101350	TREE PRUNING (OVER 10 INCH DIAMETER)	12.0	EACH	\$90.00	\$1,080.00	\$100.00	\$100.00	\$100.00
5	20200100	EARTH EXCAVATION	2,814.0	CU YD	\$35.00	\$98,490.00	\$63.75	\$63.75	\$63.75
6	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	186.0	UNIT	\$515.00	\$95,790.00	\$600.00	\$600.00	\$600.00
7	20700220	POROUS GRANULAR EMBANKMENT	649.0	CU YD	\$60.00	\$38,940.00	\$112.50	\$112.50	\$112.50
8	20800150	TRENCH BACKFILL	9.0	CU YD	\$62.00	\$558.00	\$107.00	\$107.00	\$107.00
9	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	1,137.0	SQ YD	\$10.00	\$11,370.00	\$2.65	\$2.65	\$2.65
10	21301052	EXPLORATION TRENCH 52" DEPTH	150.0	FOOT	\$50.00	\$7,500.00	\$20.00	\$20.00	\$20.00
11	28000250	TEMPORARY EROSION CONTROL SEEDING	252.0	POUND	\$5.50	\$1,386.00	\$0.10	\$0.10	\$0.10
12	28000305	TEMPORARY DITCH CHECKS	84.0	FOOT	\$15.00	\$1,260.00	\$15.00	\$15.00	\$15.00
13	28000400	PERIMETER EROSION BARRIER	1,230.0	FOOT	\$4.00	\$4,920.00	\$3.00	\$3.00	\$3.00
14	28000510	INLET FILTERS	43.0	EACH	\$170.00	\$7,310.00	\$215.00	\$215.00	\$215.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

		1/11/2025							
Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Min Rid Price	Max. Bid Price	Ava Rid Price
No.	Pay Code	Description	Quantity	Oilit	Unit Price	Extnd. Price	IVIIII. BIG FIICE	Iviax. Dia Frice	Avg. blu Frice
15	28100107	STONE RIPRAP, CLASS A4	92.0	SQ YD	\$100.00	\$9,200.00	\$206.55	\$206.55	\$206.55
16	28200200	FILTER FABRIC	113.0	SQ YD	\$4.00	\$452.00	\$7.45	\$7.45	\$7.45
17	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	868.0	SQ YD	\$25.00	\$21,700.00	\$42.85	\$42.85	\$42.85
18	35101400	AGGREGATE BASE COURSE, TYPE B	1,701.0	TON	\$40.00	\$68,040.00	\$44.00	\$44.00	\$44.00
19	40201000	AGGREGATE FOR TEMPORARY ACCESS	219.0	TON	\$35.00	\$7,665.00	\$5.00	\$5.00	\$5.00
20	40600275	BITUMINOUS MATERIALS (PRIME COAT)	8,608.0	POUND	\$1.50	\$12,912.00	\$0.01	\$0.01	\$0.01
21	40600290	BITUMINOUS MATERIALS (TACK COAT)	60,554.0	POUND	\$1.50	\$90,831.00	\$0.01	\$0.01	\$0.01
22	40600370	LONGITUDINAL JOINT SEALANT	36,367.0	FOOT	\$3.50	\$127,284.50	\$3.35	\$3.35	\$3.35
23	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	30.0	TON	\$330.00	\$9,900.00	\$150.00	\$150.00	\$150.00
24	40600990	TEMPORARY RAMP	700.0	SQ YD	\$25.00	\$17,500.00	\$1.00	\$1.00	\$1.00
25	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	2,983.0	TON	\$110.00	\$328,130.00	\$79.15	\$79.15	\$79.15
26	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	3,380.0	TON	\$132.00	\$446,160.00	\$104.85	\$104.85	\$104.85
27	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	553.0	TON	\$125.00	\$69,125.00	\$152.30	\$152.30	\$152.30



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

ltem	Day Cada	Description	Oversity	Unit	Eng Es	timate	Min Did Duice	May Bid Drice	Aug Bid Drice
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	IVIIN. BIG Price	iviax. Bid Price	Avg. Bid Price
28	40604062	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	7,839.0	TON	\$125.00	\$979,875.00	\$90.25	\$90.25	\$90.25
29	42001300	PROTECTIVE COAT	2,156.0	SQ YD	\$2.00	\$4,312.00	\$0.01	\$0.01	\$0.01
30	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	11,739.0	SQFT	\$14.00	\$164,346.00	\$8.25	\$8.25	\$8.25
31	42400800	DETECTABLE WARNINGS	731.0	SQFT	\$33.00	\$24,123.00	\$38.00	\$38.00	\$38.00
32	44000100	PAVEMENT REMOVAL	303.0	SQ YD	\$20.00	\$6,060.00	\$24.85	\$24.85	\$24.85
33	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	74,142.0	SQ YD	\$4.50	\$333,639.00	\$3.70	\$3.70	\$3.70
34	44000200	DRIVEWAY PAVEMENT REMOVAL	1,034.0	SQ YD	\$20.00	\$20,680.00	\$26.00	\$26.00	\$26.00
35	44000500	COMBINATION CURB AND GUTTER REMOVAL	2,633.0	FOOT	\$14.50	\$38,178.50	\$9.00	\$9.00	\$9.00
36	44000600	SIDEWALK REMOVAL	15,033.0	SQFT	\$4.50	\$67,648.50	\$2.50	\$2.50	\$2.50
37	44201761	CLASS D PATCHES, TYPE I, 10 INCH	375.0	SQ YD	\$90.00	\$33,750.00	\$45.00	\$45.00	\$45.00
38	44201765	CLASS D PATCHES, TYPE II, 10 INCH	562.0	SQ YD	\$90.00	\$50,580.00	\$45.00	\$45.00	\$45.00
39	44201769	CLASS D PATCHES, TYPE III, 10 INCH	1,684.0	SQ YD	\$90.00	\$151,560.00	\$45.00	\$45.00	\$45.00
40	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	1,447.0	SQ YD	\$90.00	\$130,230.00	\$45.00	\$45.00	\$45.00
41	48101200	AGGREGATE SHOULDERS, TYPE B	2,005.0	TON	\$70.00	\$140,350.00	\$21.05	\$21.05	\$21.05



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Pay Code	Description	Ougatitu	Unit	Eng Es	timate	Min Did Duice	Max. Bid Price	Ava Bid Drice
No.	Pay Code	Description	Quantity	Onit	Unit Price	Extnd. Price	IVIIN. BIG Price	IVIAX. BIG Price	Avg. bid Price
42	50100200	REMOVAL OF EXISTING STRUCTURES	1.0	L SUM	\$80,000.00	\$80,000.00	\$23,000.00	\$23,000.00	\$23,000.00
43	50104000	BRIDGE RAIL REMOVAL	112.0	FOOT	\$25.00	\$2,800.00	\$232.00	\$232.00	\$232.00
44	50300255	CONCRETE SUPERSTRUCTURE	1.0	CU YD	\$800.00	\$800.00	\$15,000.00	\$15,000.00	\$15,000.00
45	50300285	FORM LINER TEXTURED SURFACE	530.0	SQ FT	\$12.00	\$6,360.00	\$10.00	\$10.00	\$10.00
46	50800205	REINFORCEMENT BARS, EPOXY COATED	130.0	POUND	\$2.50	\$325.00	\$10.00	\$10.00	\$10.00
47	54001001	BOX CULVERT END SECTIONS, CULVERT NO.1	2.0	EACH	\$115,000.00	\$230,000.00	\$210,000.00	\$210,000.00	\$210,000.00
48	54011210	PRECAST CONCRETE BOX CULVERTS 12' X 10'	60.0	FOOT	\$1,500.00	\$90,000.00	\$2,795.00	\$2,795.00	\$2,795.00
49	550A0340	STORM SEWERS, CLASS A, TYPE 2 12"	14.0	FOOT	\$91.00	\$1,274.00	\$112.80	\$112.80	\$112.80
50	55100200	STORM SEWER REMOVAL 6"	5.0	FOOT	\$30.00	\$150.00	\$92.00	\$92.00	\$92.00
51	56106400	ADJUSTING WATER MAIN 8"	120.0	FOOT	\$300.00	\$36,000.00	\$75.00	\$75.00	\$75.00
52	58000100	MEMBRANE WATERPROOFING	971.0	SQ FT	\$30.00	\$29,130.00	\$23.57	\$23.57	\$23.57
53	60100905	PIPE DRAINS 4"	100.0	FOOT	\$45.00	\$4,500.00	\$59.00	\$59.00	\$59.00
54	60100915	PIPE DRAINS 6"	100.0	FOOT	\$50.00	\$5,000.00	\$65.00	\$65.00	\$65.00
55	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	932.0	FOOT	\$20.00	\$18,640.00	\$4.45	\$4.45	\$4.45
56	60200805	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	1.0	EACH	\$4,000.00	\$4,000.00	\$4,267.00	\$4,267.00	\$4,267.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Min Pid Price	Max. Bid Price	Ava Pid Price
No.	Pay Code	Description	Quantity	Ollic	Unit Price	Extnd. Price	Willi. Blu Price	iviax. Biu Price	Avg. blu Price
57	60237470	INLETS, TYPE A, TYPE 24 FRAME AND GRATE	2.0	EACH	\$2,000.00	\$4,000.00	\$2,320.00	\$2,320.00	\$2,320.00
58	60250400	CATCH BASINS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, OPEN LID	6.0	EACH	\$1,000.00	\$6,000.00	\$1,020.00	\$1,020.00	\$1,020.00
59	60250500	CATCH BASINS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, CLOSED LID	4.0	EACH	\$1,000.00	\$4,000.00	\$1,020.00	\$1,020.00	\$1,020.00
60	60251740	CATCH BASINS TO BE ADJUSTED WITH NEW TYPE 24 FRAME AND GRATE	2.0	EACH	\$1,000.00	\$2,000.00	\$1,045.00	\$1,045.00	\$1,045.00
61	60266600	VALVE BOXES TO BE ADJUSTED	15.0	EACH	\$700.00	\$10,500.00	\$785.00	\$785.00	\$785.00
62	60300105	FRAMES AND GRATES TO BE ADJUSTED	12.0	EACH	\$750.00	\$9,000.00	\$750.00	\$750.00	\$750.00
63	60300305	FRAMES AND LIDS TO BE ADJUSTED	23.0	EACH	\$750.00	\$17,250.00	\$795.00	\$795.00	\$795.00
64	60404950	FRAMES AND GRATES, TYPE 24	5.0	EACH	\$400.00	\$2,000.00	\$425.00	\$425.00	\$425.00
65	60406100	FRAMES AND LIDS, TYPE 1, CLOSED LID	5.0	EACH	\$400.00	\$2,000.00	\$400.00	\$400.00	\$400.00
66	60600605	CONCRETE CURB, TYPE B	36.0	FOOT	\$50.00	\$1,800.00	\$47.00	\$47.00	\$47.00
67	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	1,008.0	FOOT	\$75.00	\$75,600.00	\$43.00	\$43.00	\$43.00
68	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	1,873.0	FOOT	\$72.00	\$134,856.00	\$53.00	\$53.00	\$53.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Min Pid Drice	Max. Bid Price	Avg. Bid Price
No.	ray code	Description	Qualitity	Oilit	Unit Price	Extnd. Price	Willi. Blu Filce	Iviax. Diu Price	Avg. blu Filce
69	60618300	CONCRETE MEDIAN SURFACE, 4 INCH	428.0	SQ FT	\$15.00	\$6,420.00	\$8.25	\$8.25	\$8.25
70	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	725.0	FOOT	\$30.00	\$21,750.00	\$36.00	\$36.00	\$36.00
71	63000035	BACK SIDE PROTECTION OF GUARDRAIL	222.0	FOOT	\$30.00	\$6,660.00	\$60.00	\$60.00	\$60.00
72	63000360	LONG-SPAN GUARDRAIL OVER CULVERT, 18 FT 9 IN SPAN	88.0	FOOT	\$35.00	\$3,080.00	\$45.00	\$45.00	\$45.00
73	6310016/	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	6.0	EACH	\$3,500.00	\$21,000.00	\$3,500.00	\$3,500.00	\$3,500.00
74	63200310	GUARDRAIL REMOVAL	932.0	FOOT	\$10.00	\$9,320.00	\$6.40	\$6.40	\$6.40
75	64200108	SHOULDER RUMBLE STRIPS, 8 INCH	13,229.0	FOOT	\$2.50	\$33,072.50	\$1.05	\$1.05	\$1.05
76	66900200	NON-SPECIAL WASTE DISPOSAL	1,350.0	CU YD	\$110.00	\$148,500.00	\$70.40	\$70.40	\$70.40
77	66900530	SOIL DISPOSAL ANALYSIS	7.0	EACH	\$1,625.00	\$11,375.00	\$1,290.00	\$1,290.00	\$1,290.00
78	66901001	REGULATED SUBSTANCES PRE-CONSTRUCTION PLAN	1.0	L SUM	\$5,000.00	\$5,000.00	\$3,400.00	\$3,400.00	\$3,400.00
79	66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	1.0	L SUM	\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00	\$2,500.00
80	66901006	REGULATED SUBSTANCES MONITORING	10.0	CAL DA	\$1,000.00	\$10,000.00	\$890.00	\$890.00	\$890.00
81	67100100	MOBILIZATION	1.0	L SUM	\$295,000.00	\$295,000.00	\$354,711.53	\$354,711.53	\$354,711.53
82	70300100	SHORT TERM PAVEMENT MARKING	53,745.0	FOOT	\$1.20	\$64,494.00	\$0.01	\$0.01	\$0.01



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item		4/11/2023			Eng Es	timate			
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
83	70300211	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS - PAINT	1,385.0	SQ FT	\$3.00	\$4,155.00	\$0.01	\$0.01	\$0.01
84	70300221	TEMPORARY PAVEMENT MARKING - LINE 4"- PAINT	43,873.0	FOOT	\$0.50	\$21,936.50	\$0.01	\$0.01	\$0.01
85	70300231	TEMPORARY PAVEMENT MARKING - LINE 5"- PAINT	32,776.0	FOOT	\$0.65	\$21,304.40	\$0.01	\$0.01	\$0.01
86	70300241	TEMPORARY PAVEMENT MARKING - LINE 6"- PAINT	5,818.0	FOOT	\$0.75	\$4,363.50	\$0.01	\$0.01	\$0.01
87	70300261	TEMPORARY PAVEMENT MARKING - LINE 12"- PAINT	5,449.0	FOOT	\$1.50	\$8,173.50	\$0.01	\$0.01	\$0.01
88	70300281	TEMPORARY PAVEMENT MARKING - LINE 24"- PAINT	691.0	FOOT	\$3.00	\$2,073.00	\$0.01	\$0.01	\$0.01
89	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	13,436.0	FOOT	\$1.25	\$16,795.00	\$0.01	\$0.01	\$0.01
90	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,385.0	SQ FT	\$7.20	\$9,972.00	\$4.45	\$4.45	\$4.45
91	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	39,758.0	FOOT	\$2.15	\$85,479.70	\$0.75	\$0.75	\$0.75
92	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	32,776.0	FOOT	\$1.00	\$32,776.00	\$0.93	\$0.93	\$0.93
93	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	5,818.0	FOOT	\$2.10	\$12,217.80	\$1.12	\$1.12	\$1.12



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Day Cada	Description	Overstitu	Unit	Eng Es	timate	Min Did Drice	May Bid Drice	Ava Bid Drice
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	iviin. Bid Price	IVIAX. BIG Price	Avg. Bid Price
94	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	5,449.0	FOOT	\$4.20	\$22,885.80	\$2.23	\$2.23	\$2.23
95	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	691.0	FOOT	\$8.50	\$5,873.50	\$4.45	\$4.45	\$4.45
96	78011000	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	1,416.0	SQ FT	\$9.00	\$12,744.00	\$3.00	\$3.00	\$3.00
97	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	39,370.0	FOOT	\$1.00	\$39,370.00	\$0.30	\$0.30	\$0.30
98	78011030	GROOVING FOR RECESSED PAVEMENT MARKING 6"	32,081.0	FOOT	\$1.00	\$32,081.00	\$0.36	\$0.36	\$0.36
99	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7"	5,590.0	FOOT	\$1.75	\$9,782.50	\$0.75	\$0.75	\$0.75
100	78011065	GROOVING FOR RECESSED PAVEMENT MARKING 13"	4,172.0	FOOT	\$4.00	\$16,688.00	\$1.50	\$1.50	\$1.50
101	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 25"	288.0	FOOT	\$9.50	\$2,736.00	\$3.00	\$3.00	\$3.00
102	78300201	PAVEMENT MARKING REMOVAL - GRINDING	500.0	SQ FT	\$16.00	\$8,000.00	\$0.75	\$0.75	\$0.75
103	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	44.0	FOOT	\$20.00	\$880.00	\$38.60	\$38.60	\$38.60
104	81400100	HANDHOLE	1.0	EACH	\$1,575.00	\$1,575.00	\$4,165.00	\$4,165.00	\$4,165.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Doy Code	Description	Overstitu	llmit	Eng Es	timate	Min Did Drice	May Bid Drice	Ava Bid Drice
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	IVIIII. BIQ Price	Max. Bid Price	Avg. Bid Price
105	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	4.0	EACH	\$2,000.00	\$8,000.00	\$2,240.00	\$2,240.00	\$2,240.00
106	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	347.0	FOOT	\$1.40	\$485.80	\$2.30	\$2.30	\$2.30
107	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	361.0	FOOT	\$1.50	\$541.50	\$2.90	\$2.90	\$2.90
108	87900200	DRILL EXISTING HANDHOLE	2.0	EACH	\$280.00	\$560.00	\$577.00	\$577.00	\$577.00
109	89500200	RELOCATE EXISTING PEDESTRIAN SIGNAL HEAD	2.0	EACH	\$375.00	\$750.00	\$577.00	\$577.00	\$577.00
110	89501150	RELOCATE EXISTING TRAFFIC SIGNAL POST	1.0	EACH	\$500.00	\$500.00	\$857.00	\$857.00	\$857.00
111	89502210	MODIFY EXISTING CONTROLLER CABINET	1.0	EACH	\$1,250.00	\$1,250.00	\$2,528.00	\$2,528.00	\$2,528.00
112	89502350	REMOVE AND REINSTALL ELECTRIC CABLE FROM CONDUIT	7,358.0	FOOT	\$1.30	\$9,565.40	\$1.70	\$1.70	\$1.70
113	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.0	EACH	\$250.00	\$250.00	\$2,240.00	\$2,240.00	\$2,240.00
114	89502376	REBUILD EXISTING HANDHOLE	5.0	EACH	\$1,250.00	\$6,250.00	\$4,165.00	\$4,165.00	\$4,165.00
115	89502380	REMOVE EXISTING HANDHOLE	1.0	EACH	\$440.00	\$440.00	\$1,120.00	\$1,120.00	\$1,120.00
116	LC200051	REJECTED LOAD TRANSPORTATION	10.0	LOAD	\$300.00	\$3,000.00	\$165.65	\$165.65	\$165.65
117	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	28,812.0	UNIT	\$1.00	\$28,812.00	\$1.00	\$1.00	\$1.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

		1/11/2020							
Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Min. Bid Price	Max. Bid Price	Avg. Bid Price
No.	Tay couc	Description	Quantity	Oilit	Unit Price	Extnd. Price	Willia Blu T Ticc	IVIAX. DIG TTICC	Avg. Did i fice
118	LC400161	LEVELING BINDER (HAND METHOD) N70	314.0	TON	\$150.00	\$47,100.00	\$5.00	\$5.00	\$5.00
119	LC600200	INSTALL SURVEY MONUMENTS	16.0	EACH	\$750.00	\$12,000.00	\$555.00	\$555.00	\$555.00
120	LC782000	GUARDRAIL REFLECTORS	40.0	EACH	\$20.00	\$800.00	\$12.00	\$12.00	\$12.00
121	LC800874	TEMPORARY TRAFFIC SIGNAL TIMING	4.0	EACH	\$1,000.00	\$4,000.00	\$1,300.00	\$1,300.00	\$1,300.00
122	X0324599	ROD AND CLEAN EXISTING CONDUIT	644.0	FOOT	\$1.50	\$966.00	\$0.10	\$0.10	\$0.10
123	X0325318	LIGHTWEIGHT CELLULAR CONCRETE FILL	20.5	CU YD	\$400.00	\$8,200.00	\$1,108.00	\$1,108.00	\$1,108.00
124	X0326898	CENTER LINE - RUMBLE STRIP - 16"	2,537.0	FOOT	\$2.25	\$5,708.25	\$1.20	\$1.20	\$1.20
125	X0426200	DEWATERING	1.0	L SUM	\$10,000.00	\$10,000.00	\$190,000.00	\$190,000.00	\$190,000.00
126	X0900075	COFFERDAM (TYPE 1) (IN-STREAM/WETLAND WORK)	2.0	EACH	\$8,000.00	\$16,000.00	\$35,000.00	\$35,000.00	\$35,000.00
127	X1200246	WATERMAIN CASING PIPE FOOT	60.0	FOOT	\$250.00	\$15,000.00	\$200.00	\$200.00	\$200.00
128	X1400012	REMOVE AND REINSTALL FIBER OPTIC CABLE IN CONDUIT	6,721.0	FOOT	\$2.50	\$16,802.50	\$5.10	\$5.10	\$5.10
129	X1400031	REMOVE PEDESTRIAN PUSH-BUTTON	10.0	EACH	\$165.00	\$1,650.00	\$280.00	\$280.00	\$280.00
130	X1400326	RECTANGULAR RAPID FLASHING BEACON ASSEMBLY (COMPLETE)	6.0	EACH	\$8,000.00	\$48,000.00	\$9,858.00	\$9,858.00	\$9,858.00
131	X1400367	PEDESTRIAN SIGNAL POST, 10 FT.	1.0	EACH	\$1,000.00	\$1,000.00	\$1,799.00	\$1,799.00	\$1,799.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Min Rid Drice	Max. Bid Price	Avg. Bid Price
No.	Pay Code	Description	Quantity	Onit	Unit Price	Extnd. Price	Willi. Blu Price	iviax. Biu Price	Avg. Blu Price
132	X1400388	VIDEO VEHICLE DETECTION SYSTEM, SINGLE APPROACH	2.0	EACH	\$15,000.00	\$30,000.00	\$8,211.00	\$8,211.00	\$8,211.00
133	X2800500	INLET PROTECTION, SPECIAL	9.0	EACH	\$300.00	\$2,700.00	\$150.00	\$150.00	\$150.00
134	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	689.0	SQ YD	\$16.00	\$11,024.00	\$12.40	\$12.40	\$12.40
135	X5030290	STAINING CONCRETE STRUCTURES	530.0	SQ FT	\$10.00	\$5,300.00	\$10.00	\$10.00	\$10.00
136	X5091725	BICYCLE RAILING, SPECIAL	112.0	FOOT	\$300.00	\$33,600.00	\$8.00	\$8.00	\$8.00
137	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	42.0	EACH	\$1,475.00	\$61,950.00	\$1,545.00	\$1,545.00	\$1,545.00
138	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$177,500.00	\$177,500.00	\$220,428.00	\$220,428.00	\$220,428.00
139	X7010237	CHANGEABLE MESSAGE SIGN, SPECIAL	420.0	CAL DA	\$45.00	\$18,900.00	\$30.00	\$30.00	\$30.00
140	X/800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	4,115.0	FOOT	\$1.00	\$4,115.00	\$0.95	\$0.95	\$0.95
141	X8100105	CONDUIT SPLICE	2.0	FOOT	\$450.00	\$900.00	\$1,212.00	\$1,212.00	\$1,212.00
142	X8620200	UNINTERRUPTABLE POWER SUPPLY, SPECIAL	1.0	EACH	\$6,000.00	\$6,000.00	\$7,224.00	\$7,224.00	\$7,224.00
143	X8620310	REMOVE AND REPLACE BATTERIES FOR UNINTERUPTABLE POWER SUPPLY, EXTENDED	1.0	EACH	\$1,500.00	\$1,500.00	\$3,596.00	\$3,596.00	\$3,596.00
144	X8760200	ACCESSIBLE PEDESTRIAN SIGNALS	10.0	EACH	\$1,250.00	\$12,500.00	\$1,970.00	\$1,970.00	\$1,970.00



Project: Winchester Road Resurfacing

Section: 20-00999-80-RS

Description: Mill and Resurface; Replace Culvert; and Construct Path

Ect Butc. 4, 11, 2023									
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min Pid Price	May Pid Price	Avg. Bid Price
					Unit Price	Extnd. Price	IVIIN. BIO PIICE	IVIAX. BIG PIICE	Avg. Did Frice
145	X8780012	CONCRETE FOUNDATION, TYPE A 12-INCH DIAMETER	8.0	FOOT	\$2,000.00	\$16,000.00	\$419.00	\$419.00	\$419.00
146	XX000856	MAILBOX REMOVAL AND RELOCATION	4.0	EACH	\$500.00	\$2,000.00	\$150.00	\$150.00	\$150.00
147	XX006343	SEEDING (COMPLETE)	12,320.0	SQ YD	\$6.00	\$73,920.00	\$6.00	\$6.00	\$6.00
148	XX006658	FLOCCULATION LOGS	5.0	EACH	\$90.00	\$450.00	\$1.00	\$1.00	\$1.00
149	XX006659	FLOCCULATION POWDER	5.0	POUND	\$105.00	\$525.00	\$1.00	\$1.00	\$1.00
150	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	475.0	FOOT	\$6.00	\$2,850.00	\$7.00	\$7.00	\$7.00
151	XX008865	PERMEABLE PLASTIC BERM	84.0	FOOT	\$15.00	\$1,260.00	\$15.00	\$15.00	\$15.00
152	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	4,479.0	SQ YD	\$2.85	\$12,765.15	\$0.01	\$0.01	\$0.01
153	XX206400	MAILBOX POST	4.0	EACH	\$450.00	\$1,800.00	\$100.00	\$100.00	\$100.00
154	Z0013798	CONSTRUCTION LAYOUT	1.0	L SUM	\$60,000.00	\$60,000.00	\$23,000.00	\$23,000.00	\$23,000.00
155	Z0048665	RAILROAD PROTECTIVE LIABILITY INSURANCE	1.0	L SUM	\$8,000.00	\$8,000.00	\$5,875.00	\$5,875.00	\$5,875.00
156	Z0055905	TEMPORARY CONSTRUCTION FENCE	169.0	FOOT	\$8.00	\$1,352.00	\$15.00	\$15.00	\$15.00
	Bid Total					\$6,209,934.80			